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Final Review – Fall 2018

Use the fundamental identities to simplify.

1.  Which of the following expressions is not equal to 1?
A. 

  		C.     
B. 
 			D.  none of these

2. 
 What is the simplest form of  ?
A. 

  			C.   
B. 

 			D.   


3. 
 Which of the following is equivalent to  ?
A. 



  		B.   		C.   		D.   

4. 
 Simplify  

A. 



  		B.   		C.   		D.   

5. 
 Which expression is equivalent to  ?
A. 



  		B.   		C.   		D.   

6. 
 Simplify  

A. 



  		B.   		C.   		D.   


7. 
 Find the exact value of  

A. 


  		B.   		C.   		D.  undefined

8. 
 Evaluate   

A. 



  			B.  		C. 			D.  


9.  Write an equation of the parabola with a focus at (3, -1) and directrix equation y = 5.


A. 

  			C.  
B. 

			D.  

10.  Write an equation of the parabola with a vertex at the origin and focus at (0, 3).
A. 

  					C.   
B. 

 					D.   



11. 
 Identify the vertex, focus, and directrix of the graph of  

A.  Vertex (5, -1), focus (5, 5), directrix x = -1
B. Vertex (1, -5), focus (7, -5), directrix y = -5
C. Vertex (-1, 5), focus (-7, 5), directrix x = 6
D. Vertex (-1, 5), focus (5, 5), directrix x = -7

12. 
  Which of these graphs is  ?

A. [image: ] 
















13.    Write an equation of a circle with a center at  (-1, 4) and a radius of 5.

A. 

  			C.  
B. 

			D.  


14. 
   Identify the conic section   4x2 + 16x – 9y  = 17 – y2

A.  Circle		B.  ellipse		C.  hyperbola		D.  parabola

15.  Write an equation of an ellipse with a center (-2, 4), a major axis 10 units long, and a minor axis 8 units long.  Graph the ellipse.
[image: ]
16. 
Identify the center and graph the hyperbola with equation  
 [image: ]

17.  Find the center of the ellipse:  3x2 + 4y2 +18x – 32y – 5 = 0

A.  (3, -4)		B.  (-3, 4)		C.  (4, -3)		D.  (-4, 3)




18.  Find the center and radius of the circle:  x2 + y2 – 8x + 10y – 6 = 0

A. 

 Center (4, -5), radius =  		C.  center (4, -5), radius =  
B. 
Center (-4, 5), radius = 47			D. center  (-4, 5), radius = 


19.  Graph 5x2 + 10y2 = 50
[image: ]


	


	










20.  Find the vertex and tell the direction of opening for the parabola x2 – 8x – y + 19 = 0

A.  (4, 3); down			C.  (4, 3); up
B. (-4, 3) up				D.  (4, -3); right


For the next two problems, identify the conic type, the center and the foci.
[image: ]
21.  






[image: ]
22.  







[image: ]
23.  






24. 
Find the dot product of  
[image: ]





25. [image: ] 


 



26. [image: ] 






[image: ]
27.  





[image: ]
28.  
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image58.png
9x2 + 16y2 + 18 — 64y — 71 = 0

A ellipse with center (-1, 2) C ellipse with center (-1, 2)
foci at (-1 £ 7, 2) foci at (1,2 + ~[7)
B hyperbola with center (-1, 2) D hyperbola with center (-1, 2)

foci at (4, 2)and(-6,2) foci at (=1, 7)and(-1,-3)
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A ellipse with center (0, -3) € cllipse with center (0, 3)
foci at (5, -3) foci at (0,3 £ /5)
B hyperbola with center (0, -3) D hyperbola with center (0, 3)

foci at (413, -3) foci at (0,3 + /13)
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A truck pushes a load of 45 tons up a hill with an inclination of 35°. Express the force vector F in terms of i and j.
Round the components of F to two decimal places.

a.  36.86i +25.81j c. 24.75i+24.75§

b. 25.81i+36.86j d. 36.86i-25.81j
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v=-11i+9j, w=09i-7j
a. -99 c. -63
b. -162 d  -36
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An airplane has an air speed of 550 miles per hour bearing N30°W. The wind velocity is 50 miles per hour in the
direction N30°E. To the nearest tenth, what is the ground speed of the plane? What is its direction?

a.  576.6 mph; N25.7°W c.  552.3 mph; N24.8°W

b.  526.8 mph; N55.3°W d. 552.3 mph; N54.8°W
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The vector v has initial point P and terminal point Q. Write v in the form ai + bj; that is, find its position
vector.

P=(52);: Q=(L-3)
a. v=-3it+2j c. v=4i-5j
b. v=-5i+4j d v=2i-3j
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Find the indicated quantity.

Ifv=3i-5j and w = -7i + 4j, find 3v - 4w.
a. 37i-3lj c. -4i-j
b. 17i-10j d -19i+j
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Find a so that the vectors v =i + aj and w = -2i - 3j are orthogonal.
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